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Question 1

Simphfy the following expression

a® ~ 2ba? + 10b%a — 5a2b + 1463 — 7ab?

a® + 8ba® — 12a2h + 1442

a3 + 10a%b? — 70b4a? + 1463
a® — 7a%b + 3ab® + 1453
14a*b® — 206%a° + 350383

None of the above

Question 2

Siumphfy the foliowing expression

30zy — (15z%1° x 2%)

1
1] =
LI
2
Bl =
4
[6] None of the above
Question 3

Simplhfy the following expression

30z4y® — 15229 x 28

1]  dz%y*
2] 4zt

xt
B %

3
4 =
[6] None of the above
Question 4
Solve for x mn the following equation
2z-3=3~z

[ o
[2]
3]
4] -2z
[5]  None of the above
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Question 5

Solve for z 1 the following equation

]
(2]
[3]
(4]
(5]

0 B ol

None of the above

Question 6

2@z -1)=x+1
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The correct mathematical expression for a number which 1s 5 times as big as the number obtained after
z has been decreased by 3, 15

[1]
(2]
[3]
[4]
(5]

5z — 3
5z —3)
(z—3)+5
z—15

None of the above

Question 7

A motorst travels 270 km 1n p hours An expression for the distance which this motorist travels in x

hours, 15

1l % Xz

2] Exp

B Z-p

4 Fxz

[5) None of the above
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Question 8

All the measurements 1n the sketch below are 1n centimetre

Determine the aircumference of the figure given above The answer in metre, rounded to two decimal

digits, 15 N
1 07im

2 1,16m

3] 060m

4] 1,03m

[6] None of the above

Question 9

Determine the area of the figure given 1n question 8 above, rounded to two decimal digits The correct
answer 1s

[1] 286,54 cm?

[2] 570,16 cm?

[3] 126,54 cm?

[4] 334,54 cm?

[5] None of the above
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Question 10

Determine the volume of a rectangular prism which 15 60 ¢ long, 35 cm wide and 10 ¢ hagh The
answer in litre rounded to two decimal places, 18

{1} 21000,00 ¢

2] 0,02¢
3] 6,10¢
4 214

[6) None of the above

Question 11

Caleunlate the cost of gravelling a square playing field of side length 32 m at R60 per square metre The
cost 18

[1] R1920,00
2]  R3840,00
[3] R61440,00

[4] R193019,45
[6) None of the above

Question 12
Change the subject of the formula § = P(1+ rt) to P

1] P=8-rt
2] P=ik

3 P=955

[4 P=5

Tt

[5] None of the above

Question 13

Change the subject of the formula c= 2 —b to z

1] z=ca+b

2 z=c+b-a

8] z=ba+ca

4] z=abc

5]  None of the above
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Question 14
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A manufacturer produces 50 T-shirts per day at a cost of R10 per T-shirt The daily fixed cost 138 R500
The T-shirts sell at a price of R35 per T-shirt Suppose he sells all the T-shirts he produces per day

The profit he makes per week wath six seling days, 18

[1] R3000
2] R9500
[3] R5400
4] R4500

(5] None of the above

Question 15

Determine the LCM of each of the following
(a) 18,36 and 27
(b) 3st, 45* and 5t2

[1] (a) 36 (b) 6052
[2] (a) 108 (b) 30s2£2
B3] (a) 216 (b) 30st

4] (a)72 (b)30s%3
[6]  None of the above

Question 16
Simplhfy each of the following

8 14
(b) Bxi=3
© F+5
] (a) 5 (b) 1 (c) 8
2 (a) X (b} 4 (c) &
B % (b) 2 (©) 155
4 @ {b) 16 (¢) &

[5] None of the above
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Question 17
The equation of the line passing through the pomnts (—1,2) and {2,1) 18

[ y=-32-3

2 y=-z+3

B y=3z+3

4 y=z+1 ,
{5] None of the above

Question 18

John bought a watch for R600 After 6 months he needed cash and sold 1t for R450 The percentage
loss, accurate to two decimal digits, 18

[ 2500%

2 150,00%

3 75,00%

4] 3333% 7

[5] None of the above

Question 19

A manufacturer uses three main ingredients to make pohsh The ingredients are melted wax, water and
white spirits which are mixed 1n the ratio 2 5:3 How many litre of melted wax are needed to be able to
make 50 hitres of polish? Give the answer to two decimal digtts correct

] 7.69¢

[2] 2500¢
(3] 10,00 ¢
[4] 1500¢

{5} None of the above

Question 20

Sipho wishes to purchase a second hand car costing R22500 His father will lend him all the money
at a sumple interest rate of 12% per year for 5 years How much will Sipho need to pay his father 1n 5
years' time?

[1] R13500
[2] R1372500
[3] R36000

{44 R39625,69
[5] None of the above
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Question 21

At what sumnple interest rate should R9500 be invested to grow to R12000 in 18 months? Give the
answer correct to two decimal digits

1] 17,54%
2] 18,00%
3] 0,18%
4] 14%

[5] None of the above

Question 22

How long, to the nearest year, does R36 450 need to be invested to grow to R50000, if the interest rate
18 10%, compounded monthly?

(1] 38 years
[2] 3 years
[3] 316 years
[4] 2 years

[5] None of the above

Question 23

Nikiwe moves into her new flat and wants to buy R7 500 worth of furniture She has R5 500 to nvest at
an mnterest rate of 10% per year, compounded monthly How long, in years, will 1t take for her R5 500
to grow to R75007

[1] 37 years
[2] 4 years
[3] 38 years
[4] 3 years

[6] None of the above

Question 24

Nick bought a house in 1998 for R480 000 He paid a R150000 deposit He managed to secure a loan for
the outstanding amount at an interest rate of 7,75% per year, compounded monthly How many years,
to two decimal digits, will 1t take Nick to pay this loan off if he makes a payment of R5000 at the end
of every month?

(1] 12,53 years

(2] 4,60 years

[38] 7,19 years

[4] 6,24 years

{51 None of the above

Page 8 of 14



BNU1501
9 Oct/Nov 2014

Question 25

Mr Moshokoa wants to start investing for lus son’s tertiary studies He wants to have R400 000 available
m 12 years’ time His mvestment account return 8,5% interest per year, compounded weekly His weekly
mvestment into this account, to the nearest rand, has to be

[1]
2]
[3]
(4]
[5]

R1607

R369

R1203

R1022

None of the above

END OF PAPER

TOTAL: 100
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FORMULAE

Straight line

Simple interest

Compound interest

Annuity: present value

10
Circumference
Rectangle C=2(+w)
Square C=4
Triangle C=a+b+c
Circle C =2nr
Area
Rectangle A=Ilxw
Square A=
Triangle A= 3ibh
Circle A=nr?
Volume
Cube V=10
Prism V =1 xbasis x h
Cyhnder V = nr?h
y—y =m(z—m)
¥—h _¥2—n
T—IZ Te—T1
I=Prt
S=P({l1+rt)
S=P(1+)"
P= Ra,—m
n —
PR (142" -1
Wl+12)m
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Annuity: future value
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TOTAL: 100
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Rough work
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Page 13 of 14



BNUL501
14 Oct/Nov 2014

Rough work

Page 14 of 14



UNIVERSITY OF SOUTH AFRICA U N ] SA

EXAMINATION MARK READING SHEET

_s -

urnvtrs)ty
of south afrca

UNIVERSITEIT VAN SUID-AFRIKA
EXSAMEN-MERKLEESBLAD

PART 1 (GENERAL/ALGEMEEN) DEEL 1 .
i STUDY Jntr&g.rshm:‘x" " 5 &
- . STUDE EENHEID bv PSY100-X |

HET 1 NNEE

INITIALS AND SURNAME
VOURLETTERS EN VAN -

DATE OF EXAMINATION
DATUM VAN ERSAMEN -

PAPER NUMBER

EXAMINATION CENTRE (EG PRETORIA)
EXSAMENSENTRUM (BY PRETORI
‘

1 USE ONLY AN HEB PENCIL TO COMPLETF THIS SHEET
2. MARK LIKE THIS v

3 CHECK THAT YOUR INITIALS AND SURNAME HAS BEEN FILLED IN CORHECTLY
4 ENTER YOUR STUDENT NUMBER FROM LEFT TO RIGHT

6 CHECK THAT YOUR STUDENT NUMBER HAS BEEN FILLED IN CORRECTLY

6 CHECK THAT THE UNIQUE NUMBER HAS BEEM FILLED IN CORRECTLY

7 GHEGK YHAT ONLY ONE ANSWER PER QUESTION HAS BEEN MARKED

& DO NOT FOLD

VRAESTELNDMMER A - - e o e e e
STUDENT NUMBER | UNKIUE PAPER NO~ e -
STUDE! QMMER Ulﬂlilrﬁ MF ' .
0 c02 o2 c0Y cda €01 e cQa] 7 jeDa oy e$r e DI ey -
- clactzciactaclactyctacla €13 £13 t11 13 €33 ¢} For use by examination anIQIIEtor ¢
210212121031 023 623023 216212021 ¢021¢621 23
€31 €31 032 LM t31 <32 £33)  Jr31 ed @ €32 £33 Vir gebrutk deur eksamenopsiener
41141143 41 t41 142 141 cda 43 41
h t51 £51 €53 1151 51 K3 thr i cHh1 5
£§3 061 ¢fa cfI CGI LB cf2 ChI €H3 ch LRy gl €52 £fa
tTircfaen e o7 e} e Iyt eI 71071 L } .
cB> cd2 r§r cBa 81§ rB1 €8y c81 g1 tha ¢B1 8y i
191 c91 691 r9r £ c9r €93 cG3| < |93 81 9153791 Py B 3 .
IMPORTANT BELANGRIK

1 GEBRUIK SLEGS N MB POTLOOD OM HIERDIE BLAD TE vOLTAO:

2. MERK AS VOLG wis

3 KONTAQLELR DAT U VOORLETTEAS EN VAN HEG INGEVUL IS

4 VUL U STUDENTENOMMER VAN LINKS NA REGS IN

6 KONTROLEER DAT v DIE KORREKTE STUDENTENOMMER VERSTREX HET
6 KONTROLEER DAT DNE UNIEKE NOMMER REG INGEVUL IS

7 MAAK SEKER DAT MET EEN ALTERNATIEF PER VRAAG GEMERK IS

8 MOENIE VOU NIE

‘ A R B - 3 ﬂ Ca p "
PART 2 (ANSWERS/ANTWOORDE) DEEL1 2%« ©  =/Wne poymes o b0 T Lot
.o : Wl n ! Sl S e b ATy - M S
Y 1 £13 23 td k52 ‘fjf‘-‘;‘: 36 t1a 21 c3) cha 182 F‘:—%J n €11 £22 33 41 K2 ’.:j . 106 <13 c23 £33 tda o5
o2 etar2acdn cda e I racheheacBl 0] 7 r17e2ae3s can s % L ERSTIC TR 2 £
' . 3 rta £21 t331 41 53 as £13 023 ¢32 t42cha “a;’;“jﬁ‘! 73 £11 0211033 t42 €h2 1’%}3‘ ,mg 108 t12c2r 33 tdach
Eex M4 t1c2aedcda o5a); M 3 ore2aicedcdseha) Shgl M rlae2acdrcdreBafy R ] 109 clrels c3o ol cSaf. o
?‘; ‘ 5 ey oz €31 04 o - e 4O 1] £33 TAd B3] Ta tirc2x 3 chr cha ui;: T2l 10 ciac?icdacdrcha L
- Aot T o wy
o 6 r11c21¢dachd rﬁnit"u:"‘ 4 ik cdacesall ] SM ] 76 o1 022 030 chd Baf U;Q.j.j 1M1 ctae2s 03 cda eGof
o7l isacidaesa|i | 420 saciaedricdacafs or| T £l egacda c4a chafss .:42",_{ 112 13 €23 €31 cda c5af, -
P B rtac?23r31c43 €53 gu“'i?w’ 4 ctrcrercdacsat po] TE 01202363 tdo o5 v 113 eircdic3icdresaf o
Py 9 {12331 4 cha] ok 41  ri1c71 37 €41 (53 ‘in.‘:u}, 19 1323032 o4y eBaf” N BRI ERCP IR ST T -
"3‘: :\:-\ 10 cfac2ac3redn sy Mﬂ“ ::x 45 131623 c3 435 *5: TUlB0 r13 023 032 c42 o6 :‘,.:w:;“fs: N5 13023 33 042 tGaf '“; i~
.o il AN ‘“‘”:»' o B
e - 7 r1a¢23 031043 rszl{’fﬁ:f s 46 11 €23 r31 t43 53 :;?,:T}gﬁ i) 1112 ¢31 c41 153 ‘)‘Q o t11c21c3acdr kn *;J[l;“
£.0 12 1252333042 53 ;;,“1;;_\ 47 13 e22 ¢33 cda cH2 o 82 1202y cda cd cBap £11622 €33 €43 thaf
mEe T 13 r13c2rrc3acda oz :mgﬁ’.;ff: 48 13 €27 c3) c41 £51f=f T 83 11102133 c4a €11 c31 33 cda 53 : e
W 14 o1 21 03 041 15 ;_5;.’::‘;& 49 1321 ¢33 c43 £Ba ;?ﬂg‘ﬁﬂf 84 13121 cQaed t13 €23 131 42 eBaf HE% "
;;"5’3" 15 112232 cda o5y é;:%:;;i B0 r11¢22133 c4a1 52 ‘;:%%’jng.! B85 r1yrr2y n €11 €21 c32 c4a 52 :F’“ :;j:
o e e e P
¥, 16 r11c21 3143 52 7?}"{},’3;[2,,’ 3] flicrcd 23 11531} - ",T 12 c1acdircdacdr e’ i;r(ym ~
f;w: . 17 rt1c23 t3acda 5af e B2 13 t7¢r31 ok €21ty cd: tsxu",::\;“ 112 12121 £33 t4 15 " *
igial 18 e13 122 €31 ¢4 €62 ugggy 63 11¢ 3 €12 £33 €37 td1 51 ;—;:,‘qn 123 cl1c2 r3a c4d €52 By
xf T] 19 12122 c32 4y (Ba ] B 1 - £11 21 c3) td1 152 ';;3:"; 24 t1a o2 13 e chalEL T
%“ fshjfé{r W uyac2a £33 cdd cfaf LS 1)1 acs] 9 ci3c2ac3r idr eha E;,gi::@l‘ 125 11 :t21 132 c43 52 fj ,.; :
SE o AR N Ly
:w e i) 17 c23 cId) £ 131 c41 tBy ;;» an&\j ] ©11 c21 c31 cdacha —'sé‘ fﬁ“ 126 r13rc2:c31e43cha ;f”_“}
R B S R ¥ P ] €11 c23 £33 €41 cBa “:»*‘:: 9 <13 23132 2115 ‘iw 3 127 ctac2a cda e clafic 0k
el 230 e13 021031 ¢4 ¥ 88  cl1rc2a 33 cd3 6y ‘E’y%ﬁ# 91 1112133 ¢d1cBaf- !“{aﬁ 128 12122 o33 eda oS TS
s 4 ardisdss ¥ 53 o323 o3 r43eBap, LA 83 rta 623 £33 o4 662 ﬁf?ﬁ.ég 128 rl3c2aedcqrchafis ¢
Lt 28 13023632 o83 o83 AT 60 ®131r23¢33 £41c5a ;‘T;f— “ 8 claclac3rcdach: 2;;,3 130 €11¢c21 £33 €43 5y %ﬁ:vf{ﬂ
il B r12 23037 08> thy L AR ) £91 03 ¢33 c42 53] AnFRY 86 £13 020 032 47 53R O 131 ©13 623 €31 rga R
20w 13023033 41 152 ) ?’ia.’%’" 62 r11c21137 c41 1H3 M'Z{j,pf_ 97 £33 23 £31 cda B Fﬁ"’iﬁ" 132 ©12 €21 €31 c4y €52 :M: o
;—% Pal B oL eBichiaflahal 81 riac2icdcda eSS Eat 8 1o e23 o cda 53 [RERT 133 r1a 02 1 e oSSR
b o} 29 17322 (37 043 5 B4 f13c2o 3 rdacha :f_,;."_.qfs 99 11¢23 3 cda tha ?E:,}g_’.‘;;‘z‘;l 1M Iy c2rcdcdachs fug;_lw
“%,;hj A ci3cdycdac4daeha L%-_Eg_iff« 65 o131 121c32 4 c5a ,"’ii%iﬁg 100 1316213 ¢c31 cds €52 .agé:}“m 135 13021 32 e47 ekl ) ,ﬁ;;g
s Al g » Hainua W e BN -
i'if:: 3F r11¢c2113) 143 152 51,3@}2 66 11023332 41 ek E—ﬂ'zf: 101 t12 2313y c43 th2 li".';‘\_ 13 c13c21c33 04 6y ;F g?w
:,\:-1,_(: 32 rc11e21c33c43 5 :-i,, 3 67 €131 £2y £33 £d3 €53 ;;:f *{";‘1 102 <131 023c32 cd) 1KY 21“”%4 137 113 123 133 r4a eBafgte w0
AT 133 r12 620 £33 04y oBaf Uy 68 chyelycrcdr bl S 103 Arclaedvedr Kol TS| 138 o1 021 eIy cda eBaf oo
el B VRS PRI TR KR ENLEY St 69 ctrc21cdd cddcsafriiwd 104 01320 o3 cdo Bl AN 139 €329 530 oo oBops s
VI ® O eaac2a 133 caa chapiiig 10 c13c21 030 o3 o5 s 05 o1 c2a c3a cha el ”;cfﬁ‘:;ﬂ W0 12023 €33 cha chaf ey




